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QUESTION 1

An administrator needs to restore a physical file DATALIB/SMALLFILE from a Save 21 backup of library DATALIB.
DATALIB has several hundred large database files plus other objects. 

The administrator has the job log and output from the last full save of DATALIB. What should the administrator do to
restore SMALLFILE in the shortest time? 

A. Run the RST command for object "/QSYS.LIB/DATALIB.LIB/SMALLFILE.FILE" 

B. Delete SMALLFILE, run RSTLIB specifying *NEW objects, and specify library DATALIB as the starting library. 

C. Run RSTLIB for library DATALIB specifying the position parameter for SMALLFILE in library DATALIB from the
output of the save. 

D. Run RSTOBJ for DATALIB/SMALLFILE specifying the position and sequence number for SMALLFILE 

in library DATALIB from the output of the save. 

Correct Answer: D 

 

QUESTION 2

An administrator needs to see the system assigned job number and percent of processing unit time attributed to all jobs
currently running. 

Which steps should the administrator take to accomplish this? 

A. WRKJOB JOB(t), option 3 to display job run attributes 

B. WRKACTJOB and press P11 two times to Display Thread Data 

C. WRKSYSACT INFTYPF(*JOBS) and press PIO to update the list 

D. WRKSYSSTS and press P19 to display Extended System Status 

Correct Answer: B 

 

QUESTION 3

An administrator has a save file with user created program objects that were created on another system. One of the
programs cannot be restored. 

What is the most likely cause of the problem? 

A. The restore command used specified Force Object Conversion parameter as *NO. 

B. The program was being restored to a library that is missing a referenced file. 

C. The program was compiled using TGTRLS(*CURRENT) on a system at a later release. 
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D. The program was compiled using TGTRLS specifying a release prior to the release installed on the system. 

Correct Answer: C 

 

QUESTION 4

Some system values were changed as the result of an audit. The administrator noticed that saves are faster, but that
recoveries now take longer to complete. Which system value setting would cause this to happen? 

A. Setting the QDSKCMP system value to 1 to compress the data on disk 

B. Setting the QPERADJ system value to 2 to dynamically adjust the performance 

C. Setting the QSAVACCPTH system value to 0 indicates that access paths will not be saved 

D. Setting the QALWQBJRST system value to *ALWVLDERR to allow the restore of programs with validation errors to
be restored 

Correct Answer: C 

 

QUESTION 5

A customer determines that run time of a weekly reporting job has begun to increase rapidly over the past several
months. Examination of the file shows only normal size growth of less than 1%. 

The entire file is read sequentially by key and is heavily I/O blocked for performance. 

What should the administrator do to reduce run-time for the reporting job? 

A. Override the file to SEQONLY(*YES). 

B. Reorganize the file to remove deleted records. 

C. Reorganize the rile in the sequence of the key field. 

D. Increase the job\\'s time slice and enable expert cache in the memory pool in which the job runs. 

Correct Answer: C 
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